F298

Product Drop Elbow Co-Axial for Product And Vapor

3@
" 1 @ SPECIFICATIONS
L @ ITEM
@\ i E: »\,\@ NO. DESCRIPTION QTY. MATERIAL
o 1 Cam, right hand 408615  Bronze Plated
E S 2 Cam, left hand 408617  Bronze Plated
@ ik st 40 3 Handle 562246  Aluminum
o g @ 4 Roll Pin 470078  Steel
| () 5 Seal 561566  Buna
I \@ 6 Coupler Tube 561641  Aluminum
L 7 Gasket 408604 Buna
--------------------- ] 8 Screw, 1/4"-20 x .75 562236 Steel
9 Body 561640 Aluminum
10 O-ring 561868 Buna
11 Hex Nut, 5/16"-18 403150 Steel/Cad
12 Lockwasher, 5/16" 470034 Steel/Cad
13 Spacer 561567 Aluminum
14 4" Male NPT Adapter 561558 Aluminum

564218 Aluminum
447380 Steel

1l4a 4" Female NPT Adapter
15 Screw, 5/16-18 x 2 1/4"

PRPRPRPAMRPRPRPWRRPRPREPNDMRPRRPAMOORRPRREPRPRERRERERR

16 Tetraseal 561814 Buna
17 Sight Glass 561568 Acrylic
18 Interlock Piston 561556 Nylon
19 Interlock Body 561555 Nylon
20 Spring 409325 Steel
21 Screw, 1/4"-20 x .5" 447459 Stainless Steel
22 Interlock Latch 561570 Aluminum
23 Pin 404840 Steel
24 Spring 409340 Stainless Steel
25 Screw, 5/16"-18 x 1 1/4" 452345 Steel/Cad
26 3" Vapor Adapter 409312  Aluminum
27 Vapor Gasket 562239 -
(0] Sight Glass Kit 562249 -
(0] Coupling Tube Kit 562250 -
Y

‘ ; printed on recycled paper

Tank Truck Service & Sales
Warren, Michigan 800-482-2678
www.tanktruckservice.com




